Test: Primary 5 Maths (Term 1) - Catholic High
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Select multiple choice answers with a cross or tick:
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Question 1 of 25 Primary 5 English (Term 1)

Section A:
Choose the correct answer for each question. (16 Marks)

823 522 = 800 000+ ___ +3000 +500 +20 +2
What is the missing number in the blank?

A) 200

B) 2000

C) 20000
D) 200 000

Question 2 of 25 Primary 5 English (Term 1)
900 000 + 300 =

A) 900000+ 100+ 3

B) 900000+ 100x 3

C) 900 000 + 100 + 30
D) 900 000 + 100 x 30

1 pt

1 pt



Question 3 of 25 Primary 5 English (Term 1) 1 pt

Find the value of %x 56

A) 8
B) 12
C) 14
D) 32

Question 4 of 25 Primary 5 English (Term 1) 1 pt

Tom took % h to run around the stadium and Jerry took % h longer to
complete the run, How long did Jerry take to run around the stadium?

A)
L
9
B)
4 h
27
C)
8
27
D)



Question 5 of 25 Primary 5 English (Term 1) 1 pt

There were 40 children in a class. 8 of them wear spectacles. What fraction of the children
wear spectacles?

A)

1
B)

1

4
C)

4

5
D) 5

4

Question 6 of 25 Primary 5 English (Term 1) 1 pt

8 pizzas were shared equally among 5 children. How many pizzas did each child receive?
Express your answer as a mixed number in its simplest form.

A)
3
5
B) 5
8
C) 3
'8
D)



Question 7 of 25 Primary 5 English (Term 1) 2 pts

Find the value of 290 x 40

A) 116

B) 1160
C) 11600
D) 116 000

Question 8 of 25 Primary 5 English (Term 1) 2 pts

There were 60 apples in a basket. % of the apples were green.

How many green apples were there?

A) 12
B) 24
C) 25
D) 36

Question 9 of 25 Primary 5 English (Term 1) 2 pts

Mary, Norman and Oliver received a total of $120. Mary received $50 while the rest of the
money was shared equally between Norman and Oliver. How much did Norman receive?

A) $10
B) $35
C) $60
D) $70



Question 10 of 25

The figure is made up of 20 identical squares. How many more squares

Primary 5 English (Term 1)

need to be shaded to show that 116 of the figure is shaded?

A)
B)
C)
D)

Question 11 of 25

1
2
3
4

Primary 5 English (Term 1)

2 pts

2 pts

The mass of a jug of milk was 500 g when it was -;-—ﬂlladwi!h milk.
It had a mass of 860 g when it was fully filled with milk.

Find the mass of the jug when it was empty.

A)
B)
C)
D)

140 g
250 g
360 g
720 g



Question 12 of 25 Primary 5 English (Term 1)

Section B (20 marks)

Write nine hundred and seventeen thousand, two hundred and one in numerals

Question 13 of 25 Primary 5 English (Term 1)

Express % as a decimal corrected to 2 decimal places.

Question 14 of 25 Primary 5 English (Term 1)

What is the value of 96 - 8 + 4 + 27

Question 15 of 25 Primary 5 English (Term 1)

2 pts

2 pts

2 pts

2 pts

Albert took g h to complete his homework. Belinda completed the

2

same homework in 5 of the time Albert took. How long did Belinda

- take to complete her homework?



Question 16 of 25

Arrange the following fractions in descending order.

oo

2. 1]

|,

3.[ 1]

|

Question 17 of 25

2
9

Primary 5 English (Term 1)

A. Biggest

B. Smallest

C. Middle

Primary 5 English (Term 1)

2 pts

2 pts

Jonathan and Kelvin had 162 marbles altogether. Jonathan had twice as many marbles as
Kelvin. How many marbles must Jonathan give to Kelvin so that they had an equal amount

of marbles?



Question 18 of 25 Primary 5 English (Term 1) 2 pts

At a camp, participants were divided into Team A and Team B. % of

the participants were in Team A. There were 20 mare participants in
Team B than in Team A. How many participants were there aliogether?

Question 19 of 25 Primary 5 English (Term 1) 2 pts

Mrs Tan is now twice as old as John. 3 years later, their combined age is 63 years old. How
old is John now?

Question 20 of 25 Primary 5 English (Term 1) 2 pts

Axel had 12 more marbles than Bradley. After Bradley gave Axel 13 more marbles, Axel had
twice as many marbles as Bradley. How many marbles did Bradley have in the end?

Question 21 of 25 Primary 5 English (Term 1) 2 pts

Linda had some money. Shespem% of it on books and g of it on
food. What fraction of her money did she have left?



Question 22 of 25 Primary 5 English (Term 1) 3 pts

Section C (14 marks)

Monica and Chandler had an equal amount of money at first. After Monica spent $72 and
Chandler earned $12, Chandler had 4 times as much money as Monica. How much did each
of them have at first?

Question 23 of 25 Primary 5 English (Term 1) 3 pts

There were 36 cows and chickens in a farm. They had a total of 114 legs. How many cows
were there in the farm?

Question 24 of 25 Primary 5 English (Term 1) 3 pts

Samuel had a total of $45, consisting $2 notes and $1 coins. There were 4 times as many $2
notes as $1 coins. How many $2 notes did Samuel have altogether?

Question 25 of 25 Primary 5 English (Term 1) 3 pts

Graaespant% of her money on some stickers. She then spant%nfhsr

remaining money on a storybook. She was left with $108.
How much money did she have at first?



